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7 100kN/m%E#BZ5| 100|000 ~ 036 10529 |3mEBZD -~ - - -] 100kN/mMZ#B25 | 1.00 | 11.33 ~ 1235 10529 |3m%EiBz% -~ -
s 1.00 | 0.36 ~ 814 100.00 | =nlhst | 0.00 ~ 814 | 2.40 1212 st 1.00 | 6.00 ~ 1133 100.00 | =nst | 6,00 ~ 1235| 2.40 1212
2 100kN/m%E#8z5 | 1.00 | 000 ~ 023 10334 |3mEBz% -~ - - -] 100kN/mM%z#B25 | 1.00 | 10564 ~ 11.14| 10334 |3m%EiBZ% -~
s 1.00 | 0.23 ~ 801 100.00 | =St | 0.00 ~ 801|221 11.17 st 1.00 | 6.00 ~ 1054 100.00 | =nhst | 6.00 ~ 1114 2.21 11.17
3 100kN/mM%{BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/mM#%#8% % - -~ - -|3m%Ei#BZ B -~
Fhst - -~ - -| Fhust -~ - - - Fhst - -~ - -| Fhust -~
4 100kN/mM%{BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/mM#%#8% % - -~ - -|3m%Ei#BZ B -~
Fhst - -~ - -| Fhust -~ - - - Fhst - -~ - -| Fhust -~
5 100kN/mM%{BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/mM#%#8% % - -~ - -|3m%Ei#BZ B -~
Fhst - -~ - -| Fhust -~ - - - Fhst - -~ - -| Fhust -~
P 100kN/mM%E{BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEi#BZ B -~
Fhst - -~ - -| Fhust -~ - - - Fhst - -~ - -| Fhust -~
- 100kN/mM%E#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEi#BZ B -~
Fhst - -~ - -| Fhust -~ - - - Fhst - -~ - -| Fhust -~
P 100kN/mM%E{BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEi#BZ B -~
Fhst - -~ - -| Fhust -~ - - - Fhst - -~ - -| Fhust -~
9 100kN/ Mm% 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEi#BZ B -~
Fhst - -~ - -| Fhust -~ - - - Fhst - -~ - -| Fhust -~
10 100kN/mM%E{BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/mM%#8% % - -~ - -|3mEi#BZ B -~
Fhst - -~ - -| st -~ - - - Fhst - -~ - -| Fhust -~
11 100kN/ Mm% 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEi#BZ B -~
s 1.00 | 0.00 ~ 6.99 8868 | #nst | 000 ~ 699 | 2.62 13.26 st 1.00 | 6.00 ~ 1142 8868 | =St | .00 ~ 11.42| 2.62 13.26
12 100kN/mM%E{BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/mM#%#8% % - -~ - -|3m%Ei#BZ B -~
s 1.00 | 0.00 ~ 7.59 97.16 | =S | 000 ~ 7.69| 222 11.20 st 1.00 | 6.00 ~ 10.06 97.16 | St | 65,00 ~ 1006| 2.22 11.20
13 100kN/mM%E#BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEi#BZ B -~
s 1.00 | 0.00 ~ 6.37 80.06 | =nS | 0.00 ~ 637 1.95 9.85 st 1.00 | 6.00 ~ 814 80.06 | =ns | 500 ~ 814 | 1.95 9.85
14 100kN/mM%BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEi#BZ B -~
s 1.00 | 0.00 ~ 6.98 8851 | #nst | 000 ~ 698 | 1.89 9.65 st 1.00 | .00 ~ 9.03 88.561 | =nhdst | 500 ~ 9.03| 1.89 9.656
15 100kN/mM%E{BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/m#%#8% % - -~ - -|3mEi#BZ B -~
s 1.00 | 000 ~ 662 8368 | NS | 000 ~ 000 1.57 7.94 st 1.00 | .00 ~ 892 83.68 | #nSt | .00 ~ 892 | 1.567 7.94
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16 100kN/mM%BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/mM#%#8% % - -~ - -|3mEi#BZ B -~ -
s 1.00 | 0.00 ~ 528 65.78 | FnLSY | 0.00 ~ 0.00| 1.70 8.569 st 1.00 | .00 ~ b6.71 65.78 | =S | 5,00 ~ 671 1.70 8.69
17 100kN/mM%E{BZ 5 - -~ - -|3mEBZD -~ - - -| 100kN/mM#%#8% % - -~ - -|3m%Ei#BZ B -~
s 1.00 | 0.00 ~ 5.63 70.35 | NS | 000 ~ 563 1.80 9.08 st 1.00 | .00 ~ 6.28 70.35 | ThSY | 6.00 ~ 628 1.80 9.08
100kN/mM%{BZ 5 ~ 3ImEBAD ~ 100kN/m%#B% % ~ IMEBZD ~
Fhst ~ ZFhst ~ Fhst ~ ZhLst ~
100kN/mM%{BZ 5 ~ 3ImEBAD ~ 100kN/m%#B% % ~ IMEBZD ~
Fhst ~ ZFhst ~ Fhst ~ ZzhLst ~
100kN/mM%{BZ 5 ~ 3ImEBAD ~ 100kN/m%#B% % ~ IMEBZD ~
Fhst ~ ZFhst ~ Fhst ~ ZzhLst ~
100kN/mM%E{BZ 5 ~ 3ImEBAD ~ 100kN/m#%#B% % ~ IMEBZD ~
Fhst ~ Fhst ~ Fhst ~ ZhLst ~
100kN/mM%E#BZ 5 ~ 3ImEAD ~ 100kN/m%#B% % ~ IMEBZD ~
Fhst ~ ZFhst ~ Fhst ~ ZzhLst ~
100kN/mM%E{BZ 5 ~ 3ImEBAD ~ 100kN/m#%#B% % ~ IMEBZD ~
Fhst ~ Fhst ~ Fhst ~ ZhLst ~
100kN/ Mm% 5 ~ 3ImEBAD ~ 100kN/m%#B% % ~ IMEBZD ~
Fhst ~ ZFhst ~ Fhst ~ ZzhLst ~
100kN/mM%E{BZ 5 ~ 3ImEBAD ~ 100kN/m#%#B% % ~ IMEBZD ~
Fhst ~ Fhst ~ Fhst ~ ZhLst ~
100kN/ Mm% 5 ~ 3ImEBAD ~ 100kN/m%#B% % ~ IMEBZD ~
Fhst ~ ZFhst ~ Fhst ~ ZhLst ~
100kN/mM%E{BZ 5 ~ 3ImEBAD ~ 100kN/ m%#B% % ~ IMEBZD ~
Fhst ~ Fhst ~ Fhst ~ ZhLst ~
100kN/mM%E#BZ 5 ~ 3ImEAD ~ 100kN/m%#B% % ~ IMEBZD ~
Fhst ~ Fhst ~ Fhst ~ ZhLst ~
100kN/mM%BZ 5 ~ 3ImEBAD ~ 100kN/ m%#B% % ~ IMEBZD ~
Fhst ~ ZFhst ~ Fhst ~ ZzhLst ~
100kN/mM%E{BZ 5 ~ 3ImEEBAD ~ 100kN/m#%#B% % ~ IMEBZD ~
Fhst ~ FhLst ~ ZFhLst ~ ZzhLst ~




